HEATSTRIP =

LEADING HEATING TECHNOLOGY

Product & Assembly
Manual

HEATSTRIP® Portable Stand
(English)




1)

HEATSTRIP

LEADING HEATING TECHMNOLOGY

Manual # Rev A - Date:23/11/2018

Product Overview 3
Specifications 3
Product Features & Benefits 3

Installation Requirements 4
Parts List 4
Product Parts Diagram 5
Hardware Pack & Tools Required 6

Assembly Instructions 7
Electric Heater Assembly Instructions 7-9

Maintenance and Safety 10
Replacement Parts 10
Warranty 11

Dutch 13
French 25
German 37

For repairs or replacement parts, please contact:
Thermofilm Australia Pty Ltd
17 Johnston Court, Dandenong South, Victoria 3175, Australia
Telephone: (03) 9562 3455
8:30am-5:00pm  Mon-Fri (EST)
Email: sales@thermofilm.com.au

To obtain the correct replacement parts for your electric radiant heater, please refer to
the part numbers in this parts list. The following information is required to ensure you
receive the correct parts:

1. Model and Serial Number (see label on the heater)
2. Part Number

3. Part Description

4, Quantity of parts needed

Important: Use only Thermofilm replacement parts. The use of any part that is not a
Thermofilm replacement part can be dangerous and void your product warranty. Keep
this Instruction Manual for convenient referral and for parts replacement.




HEATSTRIP =

LEADING HEATING TECHNOLOGY

Specifications - Europe

DIMENSIONS (mm)

WEIGHT (Kg)

THAC-100 1068(W) x 2050(H) x 500(D) 15
HEATER TYPE SUITABLE Design, Elegance, Intense, Max
APPROVALS AUSTRALIA/NZ/CE
PROTECTION RATING IPX5 Protection from water ingress from all directions
MATERIAL OF CONTRUCTION Stand: Powder coated mild steel

Features & Benefits

. Stylish, high quality portable, free-standing outdoor heat- o ¥
er stand

- Ideal for alfresco areas, balconies, apartments & hospi-
tality (internal & external use)

. Concealed power cable ensures a sleek appearance

. Components are sub-assembled for easy DIY installation

- In-built wheels for easy portability, perfect for residential AV
and commercial applications
. Corrosion protected for even the toughest environments
. 2 year residential and 1 year commercial warranty
Tips T
. If an extension lead is required, use one as short as pos-
sible, as a long lead may result in performance loss f
. Locate the heater as close to the power point as possible - '
. This portable heater is for spot heating only. Locate as T — } 1 A

close to the area you want to heat as possible (e.g Ta-
ble)
. Store under cover at all times



HEATSTRIP

LEADING HEATING TECHMNOLOGY

Parts List of THAC-100

1)

Key Description QTY
1 Wheel 2
2 Skid Pad 4
3 Base 2
4 Kick Plate 1
5 Fixed Bracket 2
6 Post - Rear, Lower 1
7 Post - Rear, Upper 1
8 Post - Front, Lower 1
9 Post - Front, Upper 1
10 Side Panel / Left 1
11 Side Panel / Right 1
12 Rear Panel 1
13 Heater Bracket 1
14 Base Bracket 2

NOTE: Example Image



HEATSTRIP

LEADING HEATING TECHNOLOGY

Parts Diagram

1)

Key Description
1 Wheel
2 Skid Pad
3 Base
4 Kick Plate

Fixed Bracket

6 |Post—Rear, Lower
7 Post—Rear, Upper
8 |Post—Front, Lower
9 Post—Front, Upper
10 [Side Panel / Left

11 [ Side Panel / Right
12 | Rear Panel

13 | Heater Bracket

Base Bracket




HEATSTRIP

LEADING HEATING TECHMNOLOGY

Hardware Pack For THAC-100

1)

PART DESCRIPTION QTY PURPOSE OF PART
Hardware Pack 1 For use in assembly of stand
Pan Head Screw M6 x 10mm 5 Connecting Base
Pan Head Screw M6 x 10mm 4 Install Base Brackets to Base
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base
Pan Head Screw M6 x 10mm 3 Install Side Panels to Lower Post & Base
Pan Head Screw M6 x 10mm 3
Pan Head Screw M6 x 10mm 2 Install Real panel to Side Panel & Lower Post
Pan Head Screw M6 x 10mm 4
Pan Head Screw M6 x 10mm 4 Install Heater Bracket to Upper Post
Pan Head Screw M6 x 10mm 8 Install Upper Post to Lower Post
Screwdriver 1
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base

Hardware Diagram for THAC-100

T O X >

<

Pan Head Screw M6x10mm Flange Nut M6 Phillips Head Screwdriver
QTY: 39 QTY: 15

Hexagon Nut M12
QTY: 2



1)

HEATSTRIP

LEADING HEATING TECHNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

Joining Base

. Remove all the packing material and place on a non-abrasive
surface.

. Position the Base as shown in the diagram.

. Once the slotted holes are aligned, use 5 Pan Head screws

then tighten securely with the nuts provided

T O

Pan Head Screw M6x 10mm Flange Nut M6
QTY: 5 QTY: 5
Install Base Brackets
. Install two Brackets to the Base using 4 Pan Head Screws
(M6x10mm), once brackets are in place tighten all the screws
securely.

. Adjustable Skid Pads will be provided. Screw Skid Pads on
each corner as shown in the diagram.

Note: Base brackets can be concealed if angled inwards.

Ul

Pan Head Screw M6x 10mm 1
QTY: 4 \\ \
{
%
Install Lower Post | M
'1 \1 g
o Attach the Lower Post to the Base by matching the \ \\ \\
slotted holes on the Lower Post into the screws on \\ R
the Base. Next, attach 3 Pan Head Screws \ H \
M6x10mm, then tighten all the screws securely

Ul

Pan Head Screw M6x 10mm
QTY: 3




1)

HEATSTRIP

LEADING HEATING TECHMNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

n Install Side Panels

o Place two Side Panels onto the Base.

. Install the Left Side Panel to the Lower Post using 2 Pan
Head Screws (M6x10mm). Then place the Left Side Panel to
the Base matching the slotted holes. Once the slotted holes
are matching, use 3 Pan Head Screws (M6x10mm) and
screw securely with the Flange Nuts.

. Repeat the same procedure for the Right Side Panel, then
tighten all the screws securely.

il @

Pan Head Screw M6x10mm Flange Nut M6
QTY: 10 QTY: 6

Install Rear Panel
[ )

Place and install the Rear Panel to the Lower Post using
2 Pan Head screws. (M6x10mm)

. Once the top 2 Pan Head screws are Installed, match the
slotted holes on the Rear Panel to the Side Panels.
Screws all 4 holes securely using 4 pan head screws
(M6x10mm) and Flange Nuts.

| O

Pan Head Screw M6x10mm Flange Nut M6
QTY: 6 QTY: 4

n Install Heater Bracket to the Top Post

. Place the bracket head on the top post.

. Using the Bracket Head, match the slotted holes to the top post.
Once the slotted holes are matched, use 4 pan head screws
(M6x10mm), then tighten securely shown in the diagram.

. Ensure bracket is attached in the correct direction, as per the
diagram.

il

Pan Head Screw M6x10mm
QTY: 4




HEATSTRIP =

LEADING HEATING TECHNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

Install Top Post to the Lower Post

. Insert and slide the top post over to the lower post connecting
the stand using 8 pan head screws (M6x10mm), then tighten all
screws securely.

| T

Pan Head Screw M6x10mm
QTY: 8

n Install the Heater to Bracket Head attached on the Upper Post

. Using the 2 brackets, attach the brackets to the heater.

. Match the brackets to the slotted holes located on the bracket head shown in the
diagram.

. Using 2 Hex nuts bolts, tighten the heater brackets to the bracket head support
securely.

. Ensure the heater is centred on the post.

Tip: Tilt the stand on a chair or a solid non-abrasive surface before
connecting the heater to the bracket head.

Hex Nut M12
QTY: 2




10

!tIME”éTSTRIP@)

e
——
e
HEATING TECHNOLOGY
Assembly Instructions
n Concealing Power Cord

Place the plug into the circular hole located at the top of the upper
post. The plug should drop to the bottom of the heater, pull the cord
gently from the bottom hole. This step will conceal the cord and 3
pin plug.




HEATSTRIP

LEADING HEATI TECHNOLOGY

HS

Safety

HEATSTRIP Stand has an IP rating of X5. This means it is safe for water ingress from all directions. The HEATSTRIP
can be safely hosed down.

HEATSTRIP has undergone extensive testing both in laboratory conditions; in Thermofilm’s manufacturing facility in
Melbourne and field trials in Australia and overseas. It has been this testing that gives the purchaser the confidence of a
high quality product.

Independent laboratory testing has confirmed Thermofilm’s full compliance with Australian and other International
Standards. This includes CE, AS/ANZ, UL/CSE

HEATSTRIP is Class 1 equipment and must be earthed.

In operation, this heater is VERY HOT— do not touch any part of the heater while it is turned on. Do not touch any part
until 30 minutes after it is turned off.

This appliance is not intended for use by persons (including children) with reduced physical, sensory or intellectual
capabilities, or lack of experience and knowledge, unless they have been given supervision or instruction concerning use
of the appliance by a person responsible for their safety. Children should be supervised to ensure they do not play with the
appliance.

Do not allow any cables, furnishings, flammable materials or other items come in contact with any surface of the heater.

If installed in wet areas, the heater switches or controls must be located so that they cannot be touched by persons in the
bath or shower.

The heater needs to be installed as per the installation instructions paying special attention to the minimum clearances.
The heater needs to be mounted on a rigid bracket or fixing.

The heater must not be mounted immediately below or in front of a socket outlet.

In case of a heater fault or damaged supply lead, the appliance should be returned to the point of purchase for return to
Cook & Heat B.V. for repair.

Maintenance

The HEATSTRIP® Stand is made from durable materials, however regular care and maintenance of your heater will help
prolong the life of the heater.

It is recommended that you clean the stand with a soft cloth, gently wipe the surfaces of the heater with a mild detergent to
remove the built up contaminants from the environment. Then rinse all detergent off the heater.

All chemicals in the atmosphere including cigarette smoke, pollution etc. will tarnish the surface of the heater. In this case,
additional cleaning and maintenance may be required. Carrying out the cleaning process at least every three months will
reduce the amount of build up and keep the HEATSTRIP in good condition. If the heater is in a corrosive environment eg.
salt spray, we recommend that you clean your heater with a light spray of fresh water every week. After cleaning, turn the
heater on for 20 minutes to dry any water residue and prevent water staining.

Before cleaning or inspection activity, the heater must be switched off and cooled down completely.
Do not use any abrasive materials or products to clean the heater, this includes solvents, citrus based cleaners or other
harsh cleaning products.

When handling the heater, ensure that your hands are clean or that you use clean gloves as grease or dirt can mark the
surface of the heater.

Do not use high pressure water to clean heaters.

11



12

HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Warranty Terms & Conditions

The below Warranty Terms and Conditions apply for international warranty only.

Cook & Heat B.V. warrants to the original owner that HEATSTRIP stand products will be free from defects in materials and
workmanship for a period of 24 months from the date of purchase in accordance with the following warranty terms and
conditions.

Provision of this warranty is subject to:

The HEATSTRIP product must be installed in accordance with the Installation Instructions and relevant electrical
standards and codes.

The HEATSTRIP product must be maintained and cleaned according to instructions detailed in the Installation Manual.
There is no warranty expressed or implied with regard to capacity requirements. The selection of the unit or units
depends entirely upon the system design and capacities as determined by the purchaser.

The customer has not repaired, opened or altered the product in any unauthorised manner.

This warranty excludes damage to the product or components arising from circumstances outside the control of Cook &
Heat B.V., including, but not limited to, where the product is not used for intended purpose; where the product has

been rectified in any way; incorrect installation; incorrect power supply; damaged caused during delivery; misapplication,
misuse, abuse, vandalism, lack of maintenance or accident.

Cook & Heat'’s obligations under this warranty are limited to repair or replacement at Cook & Heat B.V. of any
components of the product which Cook & Heat B.V. identifies to its satisfaction to be defective.

Transportation charges involved in return of the product to Cook & Heat B.V. is the sole responsibility of the customer.
All products are inspected and tested before despatch and are at the risk of the purchaser after the shipment from Cook
& Heat B.V., if not delivered by Cook & Heat B.V. to destination.

Discolouration of the surface may occur after a period of time, this does not constitute a warrantable event.

Twisting and bending of the heaters may occur, this does not constitute a warrantable event.

No products or components will be supplied in advance of an examination of the faulty product or components by Cook &
Heat B.V. or an authorized representative of Cook & Heat B.V.

Cook & Heat B.V. does not participate in any site related costs or labour expenses incidental to replacement of parts,
repairing, removing, installing, servicing, transportation or handling of parts to complete products, and assumes no
liability on parts repaired or replaced without written authorisation. Cook & Heat B.V. shall not be liable for any default or
delay in performance of its warranty obligations caused by any circumstances beyond its control, including, but not

limited to, judicial or government restrictions, strikes, fires, floods, abnormal weather conditions, delayed supply of
components.

Should products be determined as damaged on arrival, immediately notify the transport company of the condition and have
them noted on the freight documents. If damage is discovered after unpacking, demand immediate inspection by the
transportation company and insist that a record of the damage is made on the freight documentation.

The customer warrants using the product in accordance with:

Any instructions provided to it by Cook & Heat B.V. from time to time.

All government and local regulations, including but not limited to all relevant electrical, environmental laws and
regulations governing the installation, storage, use, handling and maintenance of the goods.

All necessary and appropriate precautions and safety measures relating to the installation, storage, use, handling and
maintenance of goods.

DISTRIBUTOR DETAILS FOR
EUROPE & UNITED KINGDOM

Distributed by: Manufactured by:
Cook & Heat B.V. Thermofilm Australia Pty. Ltd.
www.heatstrip.eu |7 Johnston Court

Dandenong South,
Victoria, 3175 Australia


http://www.heatstrip.eu

HEATSTRIP =

LEADING HEATING TECHNOLOGY

Product & Assembly
Manual

HEATSTRIP® Portable Stand
(Dutch)




HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Manual # Rev A - Date:23/11/2018

Product Overview 15
Specifications 15
Product Features & Benefits 15

Installation Requirements 16

Parts List 16
Product Parts Diagram 17
Hardware Pack & Tools Required 18

Assembly Instructions 19

Electric Heater Assembly Instructions 19-22

Maintenance and Safety 23
Replacement Parts 23
Warranty 24

Dutch 13
French 25
German 37

For repairs or replacement parts, please visit:
www.heatstrip.eu

Om de juiste vervangende onderdelen voor uw elektrische warmtestraler te verkrijgen,
zie de

onderdelennummers in deze onderdelenlijst. De volgende informatie is noodzakelijk om
zeker te zijn dat u

de juiste onderdelen ontvangt:

1. Model en serienummer (zie label op de straler)
2. Onderdeelnummer

3. Beschrijving van de onderdelen

4. Hoeveelheid benodigde onderdelen

Belangrijk: Gebruik alleen Thermofilm vervangende onderdelen. Het gebruik van onder-
delen die niet van

Thermofilm zijn, kunnen gevaarlijk zijn en uw garantie doen vervallen. Houd

deze handleiding om nog eens na te lezen en voor de vervangende onderdelen.

14



HEATSTRIP =

LEADING HEATING TECHNOLOGY

Specificaties - Europe

DIMENSIONS (mm) WEIGHT (Kg)

THAC-100 1068(W) x 2050(H) x 500(D) 15
HEATER TYPE SUITABLE Design, Elegance, Intense, Max
APPROVALS AUSTRALIA/NZ/CE
BESCHERMINGSGRAAD IPX5 Protection from water ingress from all directions
LAND VAN HERKOMST Stand: Australie Powder coated mild steel

Kenmerken & Voordelen

. Stijlvolle, hoge kwaliteits, verplaatsbare en vrijstaande S 3
stand.

. Ideaal voor buitengebieden, balkons, appartementen en
gastverblijven

. (intern en extern gebruik)

« Verborgen netsnoer zorgt voor een strak uiterlijk

« Componenten zijn voorgemonteerd voor eenvoudige A
DHZ installatie

. Ingebouwde wielen voor eenvoudige verplaatsing, ideaal
voor gebruik in residentiélen commerciéle toepassingen

. Corrosiebestendig voor zelfs de zwaarste omgevingen

. 2 jaarresidentiéle en 1 jaar commerciéle garantie Nk

—

Tips

. Als een verlengsnoer nodig is, gebruik dan een zo kort .
mogelijke, omdat een lang snoer kan leiden tot - — t —_— St
prestatieverlies.

. Plaats de straler zo dicht mogelijk bij een stopcontact

. Deze verplaatsbare straler is alleen voor plaatselijk ver-
warmen. Plaats zo dicht mogelijk bij de plaats die u wilt
verwarmen (bijv. een tafel)

. Bewaar altijd onder een afdak

15



16

HEATSTRIP

LEADING

Parts List of THAC-100

HEATING

1)

TECHNOLOGY

Key Description QTY
1 Wheel 2
2 Skid Pad 4
3 Base 2
4 Kick Plate 1
5 Fixed Bracket 2
6 Post - Rear, Lower 1
7 Post - Rear, Upper 1
8 Post - Front, Lower 1
9 Post - Front, Upper 1
10 Side Panel / Left 1
11 Side Panel / Right 1
12 Rear Panel 1
13 Heater Bracket 1
14 Base Bracket 2

NOTE: Example Image




HEATSTRIP

LEADING HEATING TECHNOLOGY

Parts Diagram

1)

Key Description
1 Wheel
2 Skid Pad
3 Base
4 Kick Plate

Fixed Bracket

6 |Post—Rear, Lower
7 Post—Rear, Upper
8 |Post—Front, Lower
9 Post—Front, Upper
10 [Side Panel / Left

11 [ Side Panel / Right
12 | Rear Panel

13 | Heater Bracket

Base Bracket




HEATSTRIP

LEADING HEATING TECHMNOLOGY

Hardware Pack For THAC-100

1)

PART DESCRIPTION QTY PURPOSE OF PART
Hardware Pack 1 For use in assembly of stand
Pan Head Screw M6 x 10mm 5 Connecting Base
Pan Head Screw M6 x 10mm 4 Install Base Brackets to Base
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base
Pan Head Screw M6 x 10mm 3 Install Side Panels to Lower Post & Base
Pan Head Screw M6 x 10mm 3
Pan Head Screw M6 x 10mm 2 Install Real panel to Side Panel & Lower Post
Pan Head Screw M6 x 10mm 4
Pan Head Screw M6 x 10mm 4 Install Heater Bracket to Upper Post
Pan Head Screw M6 x 10mm 8 Install Upper Post to Lower Post
Screwdriver 1
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base

Hardware Diagram for THAC-100

T O X >

<

Pan Head Screw M6x10mm Flange Nut M6 Phillips Head Screwdriver
QTY: 39 QTY: 15

Hexagon Nut M12
QTY: 2

18



HEATSTRIP

LEADING HEATING TECHNOLOGY

Assembly Instructions

VOORZICHTIG: Om deze stand te monteren, dient u hulp te krijgen van een andere persoon bij het hanteren van de
grotere, zwaardere onderdelen.

1)

Basis in elkaar zetten

o  Verwijder alle verpakkingsmateriaal en zet op een niet schurend
oppervlak.

e Plaats de basis als getoond op de afbeelding.

e  Zodra de sleufgaten zijn uitgelijnd, gebruikt u 5 platkop-
schroeven. Draai ze stevig vast met de meegeleverde moeren.

T O

Pan Head Screw M6x 10mm Flange Nut M6
QTY: 5 QTY: 5

Installeer basisbeugels

o Installeer twee beugels op de basis met 4 platkopschroeven
e (M6x10mm), als de beugels op hun plaats zitten draait u alle
schroeven stevig vast.

¢ Instelbare anti-slip pads worden meegeleverd. Schroef de pads
op elke hoek zoals getoond in het schema.

Opmerking: Basisbeugels kunnen worden verborgen als ze naar binnen
worden gekanteld.

Ul

Pan Head Screw M6x 10mm

a4 %

Onderste staander installeren

. Bevestig de onderste staander aan de basis door de sleuf- \ \\\ %
gaten van de onderste staander op de schroefgaten van de \\ i
basis te plaatsen. Schroef vervolgens 3 platkopschroeven \ H \
M6x10mm in de basis, A)g

Ul

Pan Head Screw M6x 10mm
QTY: 3

19



1)

HEATSTRIP

LEADING HEATING TECHMNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

n Zijpanelen installeren

o Plaats de twee zijpanelen op de basis.

o Installeer het linker zijpaneel aan de onderste staander met 2
plat- kopschroeven (M6x10mm). Plaats vervolgens het linker
zijpaneel opde basis overeenkomend met de sleufgaten. Als de
sleufgaten overeenkomen, gebruik dan 3 platkopschroeven
(M6x10mm) en draai deze stevig vast met de moeren.

. Herhaal dezelfde handeling voor het rechter zijpaneel, draai
vervolgens alle schroeven stevig vast.

il @

Pan Head Screw M6x10mm Flange Nut M6
QTY: 10 QTY: 6

Installeer achterpaneel

. Plaats en installeer het achterpaneel aan de onderste
staander met behulp van.
. Zodra de bovenste 2 platkopschroeven zijn geplaatst, pas

dan de sleufgaten van het achterpaneel op de zijpanelen.
Gebruik de 4 platkopschroeven (M6x10mm) en
flensmoeren om alle 4 gaten stevig vast te schroeven.

Ul ©)

Pan Head Screw M6x10mm Flange Nut M6
QTY: 6 QTY: 4

n Installeer de beugel aan de bovenste staander

. Plaats de beugelkop op de bovenste staander.

. Gebruik de beugelkop om de sleufgaten op de bovenste
staander uit te lijnen. Zodra de sleufgaten zijn uitgelijnd, ge-
bruikt u 4 platkopschroeven (M6x10mm), draai vervolgens
stevig aan zoals getoond in het schema.

. Zorg dat de beugel in de juiste richting is geplaatst, volgens het-
schema.

il

Pan Head Screw M6x10mm
QTY: 4

20




HEATSTRIP =

LEADING HEATING TECHNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

Bevestig de bovenste staander aan de onderste

e  Schuif de bovenste staander op de onderste staander en gebruik 8 platkop-
schroeven (M6x10mm) om de onderdelen stevig aan elkaar te koppelen.

| T

Pan Head Screw M6x10mm
QTY: 8

n Installeer de heater op de beugelkop die

. Gebruik de 2 beugels, bevestig de beugels aan de straler.

. Plaats de beugels op de sleufgaten op de beugelkop zoals getoond in het-
schema.

. Met 2 zeskantbouten schroeft u de stralerbeugels aan de beugelkopsteun vast.

. Zorg dat de heater gecentreerd is op de staander

Tip: Kantel de standaard op een stoel of een stevig niet schurend op-
pervlak voor de verwarmer op de beugelkop wordt geplaatst.

Hex Nut M12
QTY: 2

21



22

tIAgfxTSTRIP®

(-]
(-]
(-]
HEATING TECHNOLOGY
Assembly Instructions
n Verborgen netsnoer

Plaats de stekker in het ronde gat bovenaan de bovenste staander.
De stekker dient nu naar beneden te vallen, trek het snoer voor-
zichtig door het onderste gat. Deze stap verbergt het snoer en.




HEATSTRIP

LEADING HEATI TECHNOLOGY

HS

Veiligheid

HEATSTRIP stand beschikt over beschermingsgraad IPX5. Dit houdt in dat de unit beschermd is tegen indringing van
water vanuit alle richtingen. De HEATSTRIP kan zonder problemen schoongemaakt worden.

HEATSTRIP is uitgebreid getest in laboratoria, de fabriek van Thermofilm in Melbourne en in de praktijk in Australié en
daarbuiten. Dankzij al deze testen is de klant verzekerd van een product van zeer hoge kwaliteit.

Onafhankelijk laboratoriumonderzoek bevestigt volledige compliance met Australische en andere internationale
standaarden, zoals CE,AS/ANZ en UL/CSE.

HEATSTRIP is Klasse 1-apparatuur en moet geaard zijn.

Is de heater is ingeschakeld, dan wordt hdeze ZEER HEET. Raak geen enkel onderdeel van de heater aan als deze is
ingeschakeld. Raak geen enkel onderdeel aan tot dertig minuten nadat de heater is uitgeschakeld.

Dit apparaat is niet bedoeld voor gebruik door personen (waaronder kinderen) met verminderde lichamelijke, zintuiglijke of
verstandelijke vermogens of door personen met een gebrek aan ervaring en kennis, tenzij zij onder toezicht staan van of
instructies ontvangen over het gebruik van het apparaat van een persoon die verantwoording draagt voor hun veiligheid.
Kinderen dienen in de gaten gehouden te worden om ervoor te zorgen dat zij niet met het apparaat spelen.

Voorkom dat kabels, meubilair, brandbare materialen of andere items in contact komen met de oppervlakte van de heater.

Indien geinstalleerd in een vochtige ruimte dienen de schakelaars of regelaars van de heater buiten het bereik van
personen in bad of onder de douche geplaatst te worden.

De heater dient volgens de installatievereisten geplaatst te worden, met name wat betreft de minimumafstanden.
De heater dient op een stijve beugel of bevestigingspunt bevestigd te worden.

De heater dient niet recht onder of voor een stopcontact bevestigd te worden.

In het geval van een kapot of beschadigd stroomsnoer dient het apparaat teruggebracht te worden naar de winkel waar het
gekocht is voor retournering naar Cook & Heat B.V. voor reparative.

Onderhoud

De HEATSTRIP stand is gemaakt van duurzame materialen, maar regelmatig onderhoud kan de levensduur van uw
heater verlengen.

Het wordt aanbevolen om de spuiten en met een zachte borstel met een mild reinigingsmiddel te verwijderen en schoon te
maken. Spoel vervolgens alle reinigingsmiddelen van de kachel af. Alle chemicalién in de atmosfeer, including
sigarettenrook, vervuiling enz., Zullen het oppervlak van de kachel aantasten. In dit geval kan extra reiniging en
onderhoud nodig zijn. Het is tijd om de drie maanden te laten plaatsvinden, zal de hoeveelheid kunnen verminderen. Als
de kachel in een corrosieve omgeving is, bijv. zoutspray, we raden u aan om uw kachel elke week schoon te maken met
een schoon aantal water. Schakel in het water 20 minuten in om waterresten te drogen en watervlekken te voorkomen.
Voor het reinigen van inspecteren, moet de kachel worden uitgeschakeld en volledig worden afgekoeld. Gebruik geen
schurende producten van producten om des kachel te reinigen, reinigingsmiddelen op basis van citrusvruchten van
andere agressieve reinigingsproducten.

Gebruik geen water onder hoge druk om de stands te reinigen, alleen een lichte waterstraal.

23



24

HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Garantie Voorwaarden & Condities

Algemene voorwaarden garantie

Cook & Heat B.V. garandeert aan de oorspronkelijke eigenaar dat HEATSTRIP producten vrij zijn van materiaaldefecten en
constructiefouten voor een periode van 24 maanden na datum van aankoop in overeenstemming met de volgende
algemene voorwaarden:

Dekking van deze garantie is onderhevig aan de volgende voorwaarden:

o Het HEATSTRIP-product dient volgens de installatievereisten en relevante wet- en regelgeving geinstalleerd te zijn.

o Het HEATSTRIP-product dient volgens de instructies in de installatiehandleiding onderhouden en schoongemaakt te
worden.

o Er bestaat geen garantie, expliciet of impliciet, omtrent capaciteitsvereisten. De keuze voor een unit of units is volledig
afhankelijk van het ontwerp van het systeem en de capaciteiten zoals bepaald door de koper.

o De klant dient het product op geen enkele ongeoorloofde wijze gerepareerd, geopend of aangepast te hebben.

Deze garantie dekt geen schade aan de producten of onderdelen die is veroorzaakt door oorzaken buiten de macht van
Cook & Heat B.V., waaronder, maar niet beperkt tot, oneigenlijk gebruik van het product, reparatie van het product,
onjuiste installatie, onjuiste stroomvoorziening, schade veroorzaakt tijdens transport, foutieve toepassing, verkeerd
gebruik, misbruik, vandalisme, gebrek aan onderhoud of een ongeluk.

e De verplichtingen van Cook & Heat B.V. zijn beperkt tot reparatie of vervanging van onderdelen die naar mening van
Cook & Heat B.V. defect zijn.

o Garantie is beperkt tot reparatie of vervanging van onderdelen van het product die naar mening var Cook & Heat B.V.
defect zijn.

e Transportkosten als gevolg van retournering van het product naar de fabriek van Cook & Heat B.V. (of een andere
locatie schriftelijk erkend door Cook & Heat B.V.) zijn voor rekening van de klant.

e Alle producten worden voorafgaand aan verzending geinspecteerd en getest en zijn na verzending vanuit Cook & Heat
B.V. voor risico van de koper indien het transport niet door Cook & Heat B.V. wordt verzorgd.

Op den duur kan de oppervlakte verkleuren; dit wordt niet gedekt door deze garantie.

De heaters kunnen verdraaien en verbuigen; dit wordt niet gedekt door deze garantie.

e Producten of onderdelen worden pas geleverd na een inspectie van het defecte product of onderdelen door Cook & Heat
B.V. of een erkende vertegenwoordiger van Cook & Heat B.V.

o Cook & Heat B.V. betaalt niet mee aan locatiekosten of arbeidskosten voortkomend uit het vervangen, repareren,
verwijderen, installeren, onderhouden, transporteren of verwerken van onderdelen van complete producten, en is niet
verantwoordelijk voor onderdelen die gerepareerd of vervangen zijn zonder schriftelijke toestemming. Cook & Heat B.V.
is niet aansprakelijk voor het niet kunnen voldoen aan de verplichtingen van deze garantie of een vertraging daarvan
veroorzaakt door omstandigheden buiten zijn macht, inclusief, maar niet beperkt tot, wettelijke of overheidsbeperkingen,
stakingen, branden, overstromingen, extreme weersomstandigheden en vertraagde levering van onderdelen.

Indien producten bij ontvangst beschadigd zijn, dient u het transportbedrijf onmiddellijk op de hoogte te stellen van de
schade en deze op de vrachtbrief te vermelden. Indien er na het uitpakken schade wordt vastgesteld, eis dan onmiddellijke
inspectie van het vervoersbedrijf en zie erop toe dat de schade wordt vermeld op de vrachtbrief.

De klant belooft het product te gebruiken in overeenstemming met:

o Alle instructies die Cook & Heat B.V. van tijd tot tijd geeft.

o Alle wet- en regelgeving, inclusief, maar niet beperkt tot, alle relevante elektrotechnische normen en milieuwetten en -
regels omtrent installatie, opslag, gebruik, verwerking en onderhoud van de goederen.

o Alle noodzakelijke en relevante voorzorgs- en veiligheidsmaatregelen met betrekking tot installatie, opslag, gebruik,
verwerking en onderhoud van de goederen.

DISTRIBUTOR DETAILS FOR
EUROPE & UNITED KINGDOM

Gedistribueerd door: Geproduceerd door:
Cook & Heat B.V. Thermofilm Australia Pty. Ltd.
www.heatstrip.eu 17 Johnston Court

Dandenong South,
Victoria, 3175 Australia


http://www.heatstrip.eu

HEATSTRIP =

LEADING HEATING TECHNOLOGY

Product & Assembly
Manual

HEATSTRIP® Portable Stand
(French)




HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Manual # Rev A - Date:23/11/2018

Présentation du produit 27
Fiche technique 27
Caractéristiques et avantages du produit 27
Exigences d’installation 28
Liste des pieces 28
Schéma des pieces 29
Matériel inclus et outils nécessaires 30
Instructions d’assemblage 31
Instructions d’assemblage du chauffage électrique 31-34
Maintenance et sécurité 35
Pieces de remplacement 35
Garantie 36

For repairs or replacement parts, please contact:
www.heatstrip.eu

Pour obtenir les pieces de remplacement correctes pour votre chauffage électrique a
rayonnement, notez les numéros de piéces dans la liste des pieces. Les informations
suivantes sont a fournir pour garantir que vous receviez les piéces correctes.

1. Modele et numéro de série (voir I'étiquette sur le chauffage)
2. Numéro de piéce

3. Description de piéce

4, Quantité de piéces nécessaire

Important : Utiliser seulement des piéces de rechanges fabriquées par Thermofilm. L’uti-
lisation de piéces qui ne sont pas fabriquées par Thermofilm peut se révéler dangereuse
et annuler la garantie du produit. Conservez ce mode d’emploi pour référence aisée et
pour I'obtention de piéces de remplacement, le cas échéant.

26



HEATSTRIP =

LEADING HEATING TECHNOLOGY

Spécifications - Europe

DIMENSIONS (mm) WEIGHT (Kg)

THAC-100 1068(W) x 2050(H) x 500(D) 15
HEATER TYPE SUITABLE Design, Elegance, Intense, Max
CERTIFICATIONS AUSTRALIA/NZ/CE
INDICE DE PROTECTION IPX5 Protection from water ingress from all directions
PAYS DE FABRICATION Stand: Powder coated mild steel

Caractéristiques et avantages

X - i

. Chauffage d’extérieur mobile élégant de haute qualité, T
installation autonome sur tube

. Idéal pour les lieux a ciel ouvert, les balcons, les apparte-
ments et I'hbtellerie (utilisation en intérieur et en extérieur)

. Cable d’alimentation caché pour une apparence épurée

. Les composants sont divisés en sous-composants pour
simplifier l'installation individuelle

« Roulettes intégrées, parfaites pour I'utilisation a domicile
ou en environnement commercial

. Protégé contre la corrosion dans les environnement les
plus durs

e Garantie pour utilisation non commerciale de 2 ans, gar-
antie en utilisation commerciale de 1 an Conseils

A
—3

Tips )\ f

. S’il est absolument nécessaire d’utiliser une rallonge
électrique, utilisez un cable aussi court que possible, . 4 1
car un long cable peut impacter les performances du
produit l - o

. Positionnez le chauffage aussi proche de la source d’ali-
mentation que possible

. Ce chauffage mobile est adapté a un chauffage localisé
seulement. Positionnez le chauffage aussi proche de la
zone a chauffer que possible (par ex. une table)

e Ranger a I'abri lorsque vous ne vous en servez pas

27



28

HEATSTRIP

LEADING

Parts List of THAC-100

HEATING

1)

TECHNOLOGY

Key Description QTY
1 Wheel 2
2 Skid Pad 4
3 Base 2
4 Kick Plate 1
5 Fixed Bracket 2
6 Post - Rear, Lower 1
7 Post - Rear, Upper 1
8 Post - Front, Lower 1
9 Post - Front, Upper 1
10 Side Panel / Left 1
11 Side Panel / Right 1
12 Rear Panel 1
13 Heater Bracket 1
14 Base Bracket 2

NOTE: Example Image




HEATSTRIP

LEADING HEATING TECHNOLOGY

Parts Diagram

1)

Key Description
1 Wheel
2 Skid Pad
3 Base
4 Kick Plate

Fixed Bracket

6 |Post—Rear, Lower
7 Post—Rear, Upper
8 |Post—Front, Lower
9 Post—Front, Upper
10 [Side Panel / Left

11 [ Side Panel / Right
12 | Rear Panel

13 | Heater Bracket

Base Bracket




HEATSTRIP

LEADING HEATING TECHMNOLOGY

Hardware Pack For THAC-100

1)

PART DESCRIPTION QTY PURPOSE OF PART
Hardware Pack 1 For use in assembly of stand
Pan Head Screw M6 x 10mm 5 Connecting Base
Pan Head Screw M6 x 10mm 4 Install Base Brackets to Base
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base
Pan Head Screw M6 x 10mm 3 Install Side Panels to Lower Post & Base
Pan Head Screw M6 x 10mm 3
Pan Head Screw M6 x 10mm 2 Install Real panel to Side Panel & Lower Post
Pan Head Screw M6 x 10mm 4
Pan Head Screw M6 x 10mm 4 Install Heater Bracket to Upper Post
Pan Head Screw M6 x 10mm 8 Install Upper Post to Lower Post
Screwdriver 1
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base

Hardware Diagram for THAC-100

T O X >

<

Pan Head Screw M6x10mm Flange Nut M6 Phillips Head Screwdriver
QTY: 39 QTY: 15

Hexagon Nut M12
QTY: 2

30



HEATSTRIP

LEADING HEATING TECHNOLOGY

Assembly Instructions

ATTENTION : Lorsque vous assemblez le chauffage, faites-vous aider d’'une autre personne pour manipuler les
piéces plus larges et lourdes.

1)

Installation sur le socle

. Retirez tous les éléments de I'emballage et placez-le sur une
surface douce.

. Positionnez le socle comme illustré dans le schéma.

. Une fois que les trous sont alignés, utilisez 5 vis a téte plat puis

serrez-les fermement avec les écrous inclus Installer les sup-
ports de la base

| T

Pan Head Screw M6x 10mm Flange Nut M6
QTY: 5 QTY: 5

Install Base Brackets

. Installez deux supports a la base avec 4 vis a téte plate
(M6x10 mm), et une fois que les supports sont en place, ser-
rez toutes les vis fermement.

. Patins anti-dérapants inclus. Installez les patins anti-
dérapants sur chaque coin, comme illustré dans le schéma.

Note : Les supports de la base peuvent étre masqués si vous les

installez en les tournant vers I'intérieur. Installer la section inférieure
du mat

| T

Pan Head Screw M6x 10mm

a4 i

Install Lower Post

. Installez la section inférieure du mat en faisant cor- \ ]l\\ \\
respondre les trous de la section inférieure du méat \\ i
sur les vis du socle. Ensuite, fixez 3 vis a téte plate \ H \
M6x10 mm, puis serrez fermement toutes les vis. A)E

| T

Pan Head Screw M6x 10mm
QTY: 3

31



HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

n Installer les panneaux latéraux

il

Positionnez deux panneaux latéraux dans la base.

Installez le panneau latéral de gauche dans la section inféri-
eure du méat avec 2 vis a téte plate (M6x10 mm). Placez e suite
le panneau latéral de gauche dans le socle en faisant corre-
spondre les trous des vis. Une fois que les trous des vis sont
alignés, utilisez 3 vis a téte plate (M6x10 mm) et serrez ferme-
ment avec les écrous a ailettes.

Répétez I'opération pour le panneau de droite, puis serrez
toutes les vis fermement.

Pan Head Screw M6x10mm Flange Nut M6
QTY: 10

Installer le panneau arriére

Ul

QTY: 6

Positionnez et installez le panneau arriére sur la section
inférieure du mat a l'aide de 2 vis a téte plate.

(M6x10 mm)

Une fois que les 2 vis a téte plate sont installées, faites
correspondre les trous des vis du panneau arriére sur
ceux des panneaux latéraux. Serrez les 4 vis a téte plate
(M6x10 mm) et les écrous a ailettes.

r\
\\ Y

Pan Head Screw M6x10mm Flange Nut M6
QTY: 6

n Installer le support du chauffage sur la section supérieure du mat

32

il

Pan Head Screw M6x10mm

QTY: 4

QTY: 4

Placez la téte du support sur la section supérieure du mat.

En tenant la téte du support, faites correspondre les trous des
vis aux trous sur la section supérieure du mat. Une fois que les
trous des vis sont alignés, utilisez 4 vis a téte plate (M6x10 mm)
et serrez fermement avec comme illustré dans le schéma.
Vérifiez que le support est attaché dans la bonne direction,
comme indiqué dans le schéma.




HEATSTRIP =

LEADING HEATING TECHNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

Installer la section supérieure du mat

o Insérez et faites glisser la section supérieure du mat dans la
section inférieure du mat, en fixant le socle a I'aide de 8 vis a
téte plate (M6x10 mm), puis serrez toutes les vis fermement.

| T

Pan Head Screw M6x10mm
QTY: 8

n Installer le chauffage sur la téte de support attachée a la section supérieure du mat

. En utilisant les deux supports, attachez les supports au chauffage.

. Faites correspondre les trous des vis situées sur la téte du support comme indi-
qué dans le schéma

. En utilisant 2 boulons hexagonaux, serrez les supports du chauffage au support
de la téte fermement.

. Ensure the heater is centred on the post.

Conseil: Penchez le socle sur une chaise ou sur une surface solide
douce avant de connecter le chauffage a la téte de support.

Hex Nut M12
QTY: 2

33



34

!tINE”éTSTRIP@)

[ ]
—
—

HEATING

TECHNOLOGY
Assembly Instructions
n Masquer le cable d’alimentation

Faites passer la prise dans le trou circulaire présent sur le haut de la
section supérieure du mat. La prise doit alors tomber jusqu’au bas
du chauffage. Tirez le cable doucement par le trou du bas. Cette
étape permet de masque le cable et la prise a 3 fiches.

W\

\ \

\ \\ -! ‘ -

\\ T

\ A )"") Ag) B

N " )ﬂ I B I

VA ) ’)-)“\}"\ ) '\W-\'!-"\" ol

\\ M) 3 -)1‘ "\_;‘-‘31"\*\'!.‘1 -
A\ — NN WL I N

\\ ===y
\\

\

\

L\

A

\\

\




HEATSTRIP

LEADING HEATI TECHNOLOGY

HS

Sécurité

HEATSTRIP Stand possede un indice IP de X5. Cela signifie qu'il est protégé contre les projections d'eau de toute
direction. L'unité HEATSTRIP peut donc étre nettoyée au jet d'eau en toute sécurité. HEATSTRIP a subi de nombreux
tests, que ce soit en laboratoire, a l'usine de production de Thermofilm a Melbourne et sur le terrain en Australie, Europe
et ailleurs. Grace a ces nombreux tests, I'acheteur est certain de bénéficier d'un produit de haute qualité.

Des tests de laboratoire indépendants ont confirmé que toutes les normes australiennes et internationales exigées, sont
respectes CE, AS/ANZ, UL/CSE.

HEATSTRIP est un équipement de catégorie 1 qui doit étre mis a la terre.

Le radiateur devient rapidement TRES CHAUD — ne jamais toucher une quelconque partie de I'appareil lorsqu'il
fonctionne et dans un délai de 30 minutes apres sa mise hors tension.

Cet appareil n'est pas destiné a étre utilisé par des personnes (y compris des enfants) aux capacités physiques,
sensorielles ou intellectuelles limitées ou ne disposant pas d'une expérience ou de connaissances suffisantes, sauf si
elles sont places sous surveillance ou si elles ont été formées a I'utilisation de I'appareil par une personne responsable de
leur sécurité. Les enfants doivent étre maintenus sous surveillance et ne doivent pas jouer avec I'appareil.

Ne laisser aucun cable, piece de mobilier, matériau inflammable ou autre entrer en contact avec une quelconque des
surfaces du radiateur.

Si le radiateur est installé dans une salle de bains, les interrupteurs ou les commandes de I'appareil doivent étre installés
de maniére a étre inaccessibles depuis la baignoire ou la douche.

Le radiateur doit étre installé conformément aux instructions, en tenant tout particulierement compte des distances
minimum a respecter.
Le radiateur doit étre installé sur un support ou une fixation rigide

Le radiateur ne doit pas étre installé juste en dessous ou devant une prise électrique.

Si le radiateur tombe en panne ou que le cable d'alimentation est endommageé, I'appareil doit étre retourné au point
d'achat en vue de son renvoi a Cook & Heat B.V. pour réparation.

Entretien

Le HEATSTRIP Stand est fabriqué a base de matériaux durables. Un entretien régulier permettra de prolonger sa durée
de vie.

Il est recommandé de nettoyer le radiateur a grande eau, d'essuyer délicatement les surfaces avec un chiffon imbibé de
détergent doux afin d'éliminer les saletés accumulées, puis de rincer le détergent. Les produits chimiques présents dans
I'atmosphére (fumée de cigarette, pollution, etc.) risquent de ternir la surface du radiateur. Un nettoyage et un entretien
plus fréquents peuvent alors s'avérer nécessaires. Nettoyer I'unité au moins tous les trois mois pour limiter I'accumulation
de saletés et garder un aspect propre a I'appareil. Si le radiateur est installé dans un environnement corrosif (sel, etc.), il
est recommandé de pulvériser chaque semaine le radiateur a I'eau douce pour le nettoyer. Apres toute opération de
nettoyage, faire fonctionner le radiateur pendant 20 minutes pour éviter les traces d'eau. Avant toute activité de nettoyage
ou d'inspection, éteindre le radiateur et le laisser refroidir complétement. Ne pas utiliser de matériaux ou de produits
abrasifs (solvants, produits a base d'agrumes ou autres produits corrosifs) pour nettoyer le radiateur.

Toujours manipuler le radiateur avec des mains ou des gants propres car la graisse et la saleté peuvent tacher la
surfacede l'appareil.

Ne pas utiliser de nettoyeur haute pression pour nettoyer le radiateur.

35



36

HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Garantie

Cook & Heat B.V. garantit a I'acheteur que les produits HEATSTRIP Stand seront exempts de défauts de piéces et main-
d'oeuvre pendant une durée de 24 mois a compter de la date d'achat, conformément aux conditions de garantie ci-dessous.

La validité de cette garantie est soumise aux conditions suivantes :

Le produit HEATSTRIP doit étre installé conformément aux instructions d'installation et aux normes et codes électriques
concernés.

Le produit HEATSTRIP doit étre entretenu et nettoyé conformément aux instructions figurant dans le manuel
d'installation.

Il n'existe aucune garantie expresse ou implicite relative aux spécifications de capacité. Le choix de l'unité ou des unités
dépend entierement de la conception du systeéme telle qu'elle est définie par I'acheteur.

Le client n'a pas réparé, ouvert ou modifié le produit d'une quelconque maniére non autorisée.

Cette garantie exclut tout dommage au produit ou aux composants résultant de circonstances indépendantes de la
volonté de Cook & Heat B.V. , y compris, sans toutefois y étre limité : utilisation du produit non conforme a I'usage prévu,
modification apportée au produit, installation incorrecte, alimentation électrique incorrecte, dommages pendant la
livraison, usage impropre, utilisation abusive, vandalisme, entretien insuffisant ou accident.

Les obligations de Cook & Heat B.V. au titre de cette garantie se limitent a la réparation ou au remplacement des
composants du produit dont Cook & Heat B.V. estime qu'ils sont défaillants.

Les frais de port associés au retour du produit a Cook & Heat B.V. (ou dans autre lieu autorisé par écrit par Cook & Heat
B.V.) sont a la charge du client.

Tous les produits sont inspectés et testés avant leur expédition. Lorsque la livraison n'est pas assurée par Cook & Heat
B.V., les produits passent sous la responsabilité de I'acheteur dés leur départ de I'usine de Cook & Heat B.V.

Une certaine décoloration de la surface de I'appareil peut se produire au bout d'un certain temps ; cette décoloration
n'est pas incluse dans la garantie.

Les radiateurs sont susceptibles de se tordre ou de se plier ; ces détériorations ne sont pas incluses dans la garantie.
Aucun produit ou composant ne sera fourni tant que le produit ou les composants défaillants n'auront pas été examinés
par Cook & Heat B.V. ou par un représentant agréé de Cook & Heat B.V.

Cook & Heat B.V. ne prend pas en charge les colts ou les frais de main-d'oeuvre associés au remplacement de piéces,
a la réparation, au démontage, a l'installation, a I'entretien, au transport ou a la manipulation de piéces destinées a
compléter les produits, et n'assume aucune responsabilité quant aux piéces réparées ou remplacées sans autorisation
écrite. Cook & Heat B.V. ne peut étre tenu pour responsable d'une quelconque défaillance ou d'un quelconque retard
dans I'exécution de ses obligations au titre de la garantie si cette défaillance ou ce retard résulte de circonstances
indépendantes de sa volonté, y compris, sans toutefois y étre limité, restrictions judiciaires gouvernementales, gréves,
incendies, inondations, conditions météorologiques anormales ou retard de livraison de composants.

Si les produits arrivent endommageés, avertirimmédiatement la société de transport de I'état des produits et lui demander de
mentionner le probléme sur les documents de fret. Si les dommages sont découverts aprées le déballage du produit,
demander immédiatement a la société de transport de venir inspecter les produits et insister pour que les dommages
figurent sur les documents de fret.

Le client déclare utiliser le produit dans le respect :

des instructions qui pourront lui étre fournies par Cook & Heat B.V.

de toutes les réglementations gouvernementales et locales, y compris, sans toutefois y étre limité, toutes les lois et
réglementations électriques et environnementales régissant l'installation, le stockage, I'utilisation, la manipulation et
I'entretien des biens.

de toutes les précautions et mesures de sécurité nécessaires et appropriées relatives a I'installation, au stockage, a
I'utilisation, a la manipulation et a I'entretien des biens.

DISTRIBUTOR DETAILS FOR
EUROPE & UNITED KINGDOM

Distribué par: Produit par:
Cook & Heat B.V. Thermofilm Australia Pty. Ltd.
www.heatstrip.eu 17 Johnston Court

Dandenong South,
Victoria, 3175 Australia


http://www.heatstrip.eu

HEATSTRIP =

LEADING HEATING TECHNOLOGY

Product & Assembly
Manual

HEATSTRIP® Portable Stand
(German)




HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Manual # Rev A - Date:23/11/2018

Produktiibersicht 39
Spezifikationen 39
Produktmerkmale & Vorteile 39

Installationsanforderungen 40

Stuckliste 40
Produktteile-Diagramm 41
Hardware Pack & Erforderliche Tools 41
Montageanleitung 42
Montageanleitung fiir Elektroheizer 42-45
Wartung und Sicherheit 46
Ersatzteile 46
Garantie 47

For repairs or replacement parts, please contact:
www.heatstrip.eu

Um die richtigen Ersatzteile fUr Ihren elektrischen Strahlungsheizkdrper zu erhalten,
lesen Sie bitte unter die Teilenummern in dieser Stuckliste. Die folgenden Informationen
sind erforderlich, um sicherzustellen, dass Sie die richtigen Teile erhalten:

1. Modell- und Seriennummer (siehe Etikett auf dem Heizgerat)
2. Teilenummer

3. Teilebeschreibung

4. Anzahl der bendtigten Teile

Wichtig: Verwenden Sie nur Thermofilm-Ersatzteile. Die Verwendung von anderen als
den Thermofilm-Ersatzteilen kénnen gefahrlich sein und fihren zum Erléschen der
Produktgarantie. Behalten diese Bedienungsanleitung zur praktischen Einweisung und
fur den Austausch von Teilen.

38



HEATSTRIP =

LEADING HEATING TECHNOLOGY

Technische Angaben - Europe

DIMENSIONS (mm) WEIGHT (Kg)

THAC-100 1068(W) x 2050(H) x 500(D) 15
HEIZGERAT TYP Design, Elegance, Intense, Max
ZULASSUNGEN AUSTRALIA/NZ/CE
SCHUTZKLASSE IPX5 Protection from water ingress from all directions
HERSTELLUNGSLAND Stand: Powder coated mild steel

Funktionen & Vorteile

. Stilvoller, hochwertiger, tragbarer, freistehender Aufien- T '
heizer von hoher Qualitat Stander
. Ideal fir AuRenbereiche, Balkone, Wohnungen &
Gastgewerbe (interner & externer Gebrauch)
. Verstecktes Netzkabel sorgt fiir ein schlankes Erschein-
ungsbild A
« Die Komponenten sind flir eine einfache DIY-Installation
vormontiert
. Eingebaute Rader fiir einfachen Transport, perfekt fir
den Privatgebrauch und kommerzielle Anwendungen
. Korrosionsgeschutzt fur schwierigste Umgebungen
. 2 Jahre Garantie bei Privat - und 1 Jahr bei gewerbli-
chem Gebrauch

-

Tipps » .

. Wenn eine Verlangerungsleitung erforderlich ist, ver- =T —] i . —— - —
wenden Sie eines, dass so kurz wie mdglich ist, da ein
langes Kabel zu Kapazitatsverlusten fihren kann

. Stellen Sie das Heizgerat so nah wie mdglich an der
Steckdose auf

. Diese tragbare Heizung ist nur fir Punktbeheizung
vorgesehen. Stellen Sie ihn so nahe wie moglich an den
Bereich, den Sie heizen méchten (z.B. Tisch).

. Immer geschitzt lagern

39



40

HEATSTRIP

LEADING

Parts List of THAC-100

HEATING

1)

TECHNOLOGY

Key Description QTY
1 Wheel 2
2 Skid Pad 4
3 Base 2
4 Kick Plate 1
5 Fixed Bracket 2
6 Post - Rear, Lower 1
7 Post - Rear, Upper 1
8 Post - Front, Lower 1
9 Post - Front, Upper 1
10 Side Panel / Left 1
11 Side Panel / Right 1
12 Rear Panel 1
13 Heater Bracket 1
14 Base Bracket 2

NOTE: Example Image




HEATSTRIP

LEADING HEATING TECHNOLOGY

Parts Diagram

1)

Key Description
1 Wheel
2 Skid Pad
3 Base
4 Kick Plate

Fixed Bracket

6 |Post—Rear, Lower
7 Post—Rear, Upper
8 |Post—Front, Lower
9 Post—Front, Upper
10 [Side Panel / Left

11 [ Side Panel / Right
12 | Rear Panel

13 | Heater Bracket

Base Bracket




HEATSTRIP

LEADING HEATING TECHMNOLOGY

Hardware Pack For THAC-100

1)

PART DESCRIPTION QTY PURPOSE OF PART
Hardware Pack 1 For use in assembly of stand
Pan Head Screw M6 x 10mm 5 Connecting Base
Pan Head Screw M6 x 10mm 4 Install Base Brackets to Base
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base
Pan Head Screw M6 x 10mm 3 Install Side Panels to Lower Post & Base
Pan Head Screw M6 x 10mm 3
Pan Head Screw M6 x 10mm 2 Install Real panel to Side Panel & Lower Post
Pan Head Screw M6 x 10mm 4
Pan Head Screw M6 x 10mm 4 Install Heater Bracket to Upper Post
Pan Head Screw M6 x 10mm 8 Install Upper Post to Lower Post
Screwdriver 1
Pan Head Screw M6 x 10mm 3 Install Lower Post to Base

Hardware Diagram for THAC-100

T O X >

<

Pan Head Screw M6x10mm Flange Nut M6 Phillips Head Screwdriver
QTY: 39 QTY: 15

Hexagon Nut M12
QTY: 2

42



HEATSTRIP

1)

LEADING HEATING TECHNOLOGY

Assembly Instructions

ACHTUNG: Um dieses Heizgerat zu montieren, sollten Sie sich beim Hantieren der groRere, schwereren

Stlicke von einer anderen Person helfen lassen.

Verbinden der Basis

. Entfernen Sie das gesamte Verpackungsmaterial und stellen
Sie es auf eine abriebfeste Oberflache

. Positionieren Sie die Basis wie in der Abbildung gezeigt.

. Sobald die Langldcher ausgerichtet sind, verwenden Sie 5

Flachkopfschrauben dann mit den mitgelieferten Muttern fest
anziehen Montieren Sie

T O

Pan Head Screw M6x 10mm Flange Nut M6
QTY: 5 QTY: 5

die Basishalterungen

. Montieren Sie zwei Halterungen an der Basis mit 4 Flach-
kopfschrauben (M6x10mm), sobald die Halterungen ange-
bracht sind, ziehen Sie alle Schrauben fest an.

. Verstellbare Gleitplatten werden mitgeliefert. Gleitplatten
aufschrauben jede Ecke wie in der Abbildung dargestelit.

Hinweis: Die Basishalterungen kénnen verdeckt werden, wenn sie
nach innen abgewinkelt werden

| T

Pan Head Screw M6x 10mm
QTY: 4

Installieren Sie die untere Stange

. Befestigen Sie die untere Stange an der Basis, in-
dem Sie die passenden Langlécher am unteren
Pfosten entsprechend den Schrauben an der Basis
positionieren. Befestigen Sie anschlieRend 3 Flach-
kopfschrauben M6x10mm, danach alle Schrauben

Ul

Pan Head Screw M6x 10mm
QTY: 3

43



HEATSTRIP

LEADING HEATING TECHMNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

1)

n Seitenverkleidungen montieren @
|

o Setzen Sie zwei Seitenwande auf die Basis.

J Installieren Sie die linke Seitenwand an der unteren Stange mit 2 \
Flachkopfschrauben (M6x10mm). Platzieren Sie dann die linke
Seitenverkleidung auf der Basis, passend zu den Langl6chern. So- \
bald die Langlocher passen, verwenden Sie 3 Flachkopfschrauben
(M6x10mm) und verschrauben diese fest mit den Flanschmuttern.

. Wiederholen Sie den gleichen Vorgang bei der rechten Seitenwand,
dannziehen Sie alle Schrauben fest an.

N
/

il

Pan Head Screw M6x10mm Flange Nut M6
QTY: 10 QTY: 6

A

Riickwand installieren

o Platzieren und montieren Sie die Rickwand an der un-
teren Stange mit 2 Flachkopfschrauben. (M6x10mm)
. Sobald die oberen 2 Flachkopfschrauben montiert sind,

passen Sie die Langlécher an der Ruckseite den Seiten-
wanden an. Schrauben Sie alle 4 Lécher mit 4 Zylin-
derschrauben (M6x10mm) und Flanschmuttern fest.

Stange.
| Ui ©)
Pan Head Screw M6x10mm Flange Nut M6
QTY: 6 QTY: 4

n Montieren Sie die Halterung des Heizgerates am der unteren

. Setzen Sie das obere Ende der Halterung auf die obere Stange.
. Richten Sie die Langldcher mit Hilfe des oberen Endes der Hal-
terung auf die oberste Stange aus. Sobald die Langlécher an-
gepasst sind, verwenden Sie 4 Zylinderschrauben (M6x10mm),
dann fest anziehen, wie in der Abbildung gezeigt.
. Vergewissern Sie sich, dass die Halterung in der richtigen Rich-
ﬂﬂ’dﬂ'ﬁ-'hf".‘- tung angebracht ist, wie in der

44

Pan Head Screw M6x10mm
QTY: 4




HEATSTRIP =

LEADING HEATING TECHNOLOGY

Assembly Instructions

CAUTION: To assemble this heater, you should obtain assistance from another person when handling the
larger, heavier pieces.

Setzen Sie die obere Stange an die untere Stange

. Setzen Sie die obere Stange ein und schieben Sie sie auf die
untere Stange, und verbinden dies mit dem Stander durch 8
Flachkopfschrauben (M6x10mm), dann alle Schrauben fest an-
ziehen. =

| T

Pan Head Screw M6x10mm
QTY: 8

Montieren Sie den Heizkorper am Kopf der Halterung, der an der oberen Stange
befestigt ist

. Nehmen Sie die beiden Halterungen und befestigen diese am Heizgerat.

. Passen Sie die Halterungen an die Langlécher an, die sich auf dem oberen End-
er der Halterung befinden, wie in der Abbildung gezeigt.

. Ziehen Sie die Halterungen des Heizers mit 2 Sechskantmuttern am oberen
Ende der Halterungsklammer fest an.

. Vergewissern Sie sich, dass das Heizgerat mittig auf dem Stander steht.

Tipp: Kippen Sie den Stander auf einem Stuhl oder einer soliden, abriebfesten Oberflache,
bevor Sie das Heizgerat an den Kopf der Halterung anschlief3en.

Hex Nut M12
QTY: 2

45



46

tIAgfxTSTRIP®

HEATING

(-]
(-]
(-]
TECHNOLOGY
Assembly Instructions
n Verdecktes Netzkabel

Setzen Sie den Stecker in das kreisférmige Loch oben auf der Oberseite des

Standers ein. Der Stecker sollte auf die Unterseite des Heizgerates fallen;
das Kabel und den Schukostecker.

ziehen Sie das Kabel vorsichtig aus dem unteren Loch. Dieser Schritt verdeckt




HEATSTRIP

LEADING HEATING TECHNOLOGY

1)

Sicherheit

HEATSTRIP Stand wurde der IP-Klasse X5 zugeordnet, d. h., dass das Gerét fiir eine Wassereindringung von allen
Seiten geeignet ist. Der HEATSTRIP Intense kann unbedenklich abgespult werden. Der HEATSTRIP wurde umfassenden
Prifungen unter Laborbedingungen unterzogen: im Werk von Thermofilm in Melbourne und bei Feldversuchen in
Australien, Europa und im Ausland. Durch diese umfassenden Prifungen kann sich der Kaufer darauf verlassen, dass ihm
ein hochwertiges Produkt zur Verfiigung steht.

In Tests bei unabhéngigen Labors wurde bestatigt, dass den australischen und anderen internationalen Normen
vollstandig entspricht werden. Diese umfassen CE, AS/ANZ, UL/CSE.

Der HEATSTRIP ist ein Gerat der Klasse 1, das geerdet werden muss.

Wahrend des Betriebs ist der Heizstrahler SEHR HEISS; bertihren Sie deshalb bei der Verwendung keine Teile des
Gerats. Das Geréat darf erst wieder 30 Minuten nach dem Abschalten bertihrt werden.

Dieses Gerat ist nicht fur die Verwendung durch Personen (einschlieRlich Kinder) mit eingeschrankten koérperlichen,
sensorischen oder geistigen Eigenschaften oder mit einem Mangel an Wissen oder Erfahrung geeignet, es sei denn, dass
sie von einer Person, die fiir ihre Sicherheit verantwortlich ist, eine Einweisung zur Verwendung des Gerats erhalten hat,
oder diese Person ihr Handeln beaufsichtigt. Kinder miissen immer beaufsichtigt werden, damit gewahrleistet ist, dass sie
nicht mit dem Gerat spielen.

Kabel, Einrichtungsgegenstande, Mobel, entziindliche Gegenstdnde oder andere Objekte diirfen nicht in Kontakt mit einer
Oberflache des Heizstrahlers kommen.

Bei einer Installation in einer feuchten Umgebung miissen Schalter und Regler des Heizstrahlers so angebracht werden,
dass sie nicht von Personen in der Dusche oder Wanne bedient werden kdnnen.

Der Heizstrahler muss gemaR den Installationshinweisen angebracht werden; dabei ist den Mindestabstanden besondere
Aufmerksamkeit zu widmen.

Der Heizstrahler muss an einer festen Halterung oder einem festen Bligel angebracht werden.

Der Heizstrahler darf nicht direkt Uber oder vor einem Stromanschluss angebracht werden.

Bei einer Stérung des Heizstrahlers oder einem defekten Stromkabel muss das Gerat zum Verkaufer zuriickgebracht
werden, sodass es Cook & Heat B.V. zur Reparatur eingeschickt werden kann.

Instandhaltung

Der HEATSTRIP Stand besteht aus soliden Materialien, aber dennoch fiihren eine regelmafRige Pflege und Instandhaltung
lhres Heizstrahlers zu einer langeren Lebensdauer des Geréats.

Es wird empfohlen, den Heizstrahler abzuspritzen und die Oberflachen mit einem feuchten Tuch und einem milden
Reinigungsmittel vorsichtig abzureiben, um die aus der Umgebung stammenden Verunreinigungen zu entfernen. Danach
missen alle Reinigungsmittel vom Heizgerat abgespllt werden. Samtliche Chemikalien aus der Umgebung (wie
Zigarettenrauch und Abgase) fuhren zu Verfarbungen der Gerateoberflache. In diesem Fall sind eine zusatzliche
Reinigung und Wartung erforderlich. Wenn das Gerat mindestens alle drei Monate gereinigt wird, kommt es zu weniger
Ablagerungen und behélt es ein optimales Aussehen. Sollte der Heizstrahler in einer korrosiven Umgebung (z. B. am
Meer) stehen, wird empfohlen, das Gerat jede Woche mit klarem Wasser abzuspiilen. Stellen Sie den Heizstrahler nach
der Reinigung fur 20 Minuten ein, damit Wasserreste trocknen und sich keine Flecken bilden. Der Heizstrahler muss vor
der Reinigung und Inspektion ausgeschaltet werden und vollstdndig abgekuihlt sein. Benutzen Sie keine scheuernden
Mittel oder Produkte zur Reinigung des Heizstrahlers (dies umfasst Losungsmittel, Reinigungsmittel auf Zitronenbasis
oder andere scharfen Reinigungsprodukte).

Achten Sie auf saubere Hande beim Umgang mit dem Heizstrahler oder tragen Sie saubere Handschuhe, weil Schmutz
zu Verunreinigungen auf dem Gerat fuhren kann. Benutzen Sie zum Saubern keinen Hochdruckreiniger, sondern spritzen
Sie das Gerat nur leicht ab.

47



48

HEATSTRIP

LEADING HEATING TECHMNOLOGY

1)

Garantiebedingungen und -bestimmungen

Cook & Heat B.V.garantiert dem Originaleigentiimer, dass die Produkte HEATSTRIP Stand fiir einen Zeitraum von 24
Monaten ab dem Zeitpunkt des Ankaufs weder Mangel am Material noch Mangel bei der Verarbeitung aufweisen;
diesbezuglich finden die nachstehenden Garantiebedingungen und -bestimmungen Anwendung.

Fir einen Garantieanspruch muss den folgenden Auflagen entsprochen werden:Der HEATSTRIP muss entsprechend den
Installationshinweisen und den geltenden elektrischen Vorgaben und Bestimmungen installiert werden.

. Der HEATSTRIP muss entsprechend den im Installationshandbuch dargelegten Hinweisen instand gehalten und
gereinigt werden.

. In Hinsicht auf den Leistungsbedarf werden weder direkt noch indirekt Garantien gegeben. Die Wahl des Gerats bzw.
der Gerate hangt vollig von der Systemauslegung und den Leistungen ab, wie diese vom Kaufer bestimmt wurden.

. Der Kunde hat das Gerat weder repariert, gedffnet noch auf eine andere nicht gestattete Weise geéndert.

. In dieser Garantie werden Schaden am Produkt oder den Einzelteilen ausgeschlossen, die auf Faktoren

zurlckzufiihren sind, auf die Cook & Heat B.V. keinen Einfluss hat, dies ein- aber nicht ausschlieRlich
zweckentfremdete Verwendung, Veranderungen am Produkt, unsachgemafie Installation, unrichtige
Stromversorgung, Beschadigungen bei der Lieferung, unrichtige Anwendung, Missbrauch, fehlerhafte Nutzung,
Vandalismus, mangelhafte Instandhaltung oder Unfélle.

. Die Verpflichtungen von Cook & Heat B.V. beschranken sich auf eine Reparatur oder einen Austausch derjenigen
Produktteile, die nach dem Ermessen von Cook & Heat B.V. defekt sind.

. Der Kunde kommt allein fiir die im Rahmen der Riicksendung des Produktes an das Werk von Cook & Heat B.V.
(oder einen anderen schriftlich von Cook & Heat B.V. bezeichneten Ort) anfallenden Transportkosten auf.

. Samtliche Produkte werden vor dem Versand gepriift und inspiziert, und unterliegen nach dem Transport von Cook &
Heat B.V. dem Risiko des Kaufers, es sei denn, dass sie von Cook & Heat B.V. bis an den Zielort gebracht werden.

. Im Laufe der Zeit kann es zu Verfarbungen der Oberflaiche kommen, die keinen Anspruch auf Garantieleistungen
darstellen.

. Es kann zu einem Verformen oder Verbiegen des Heizstrahlers kommen, ohne dass dadurch ein Garantieanspruch
entsteht.

. Weder Produkte noch Einzelteile werden vor einer Priifung des fehlerhaften Produkts oder der Einzelteile seitens
Cook & Heat B.V. oder eines befugten Vertreters von Cook & Heat B.V. bereitgestellt.

. Cook & Heat B.V. ibernimmt keine vor Ort anfallenden (Arbeits-)Kosten im Rahmen des Austauschs von Teilen,

einer Reparatur, Demontage, Installation, Instandhaltung, des Transports oder der Handhabung von Teilen fir ganze
Produkte und haftet ferner nicht fir Teile, die ohne ein schriftliches Einverstandnis repariert oder ersetzt wurden.
Cook & Heat B.V. ibernimmt keine Haftung fir Ausfalle oder Verzégerungen bei der Einhaltung ihrer
Garantieverpflichtungen, die auf Faktoren zurlickzufiihren sind, die auRerhalb ihrer Einflussnahme liegen; dies
umfasst ein- aber nicht ausschlie3lich rechtliche oder staatliche Einschrankungen, Streiks, Brand, Hochwasser,
extreme Witterungsbedingungen und eine verzdgerte Lieferung von Einzelteilen.

Sollte sich bei der Ankunft herausstellen, dass Produkte defekt sind, ist die Transportfirma umgehend lber den Zustand in
Kenntnis zu setzen, der auflerdem auf den Frachtpapieren festgehalten wird. Sollten sich Beschadigungen erst nach dem
Auspacken herausstellen, ist eine sofortige Inspektion seitens der Transportfirma zu verlangen, und haben die
Beschadigungen auf den Frachtpapieren deutlich angefihrt zu werden.

Der Kunde gewahrleistet, das Produkt unter Beachtung der folgenden Bestimmungen zu verwenden:
. Die von Cook & Heat B.V. im gewissen Abstanden bereitgestellten Informationen werden beachtet.

. Samtliche staatlichen und vor Ort geltenden Bestimmungen werden beachtet, dies ein- aber nicht ausschlieRlich der
geltenden elektrischen Auflagen, Umweltgesetze sowie der Bestimmungen zur Installation, Lagerung, Verwendung,
Handhabung und Wartung der Produkte.

. Samtliche erforderlichen und angemessenen Vorsichts- und SicherheitsmafRnahmen in Bezug auf die Installation,
Lagerung, Verwendung, Handhabung und Wartung der Produkte werden beachtet.

VERTRIEBEN VON: HERGESTELLT VON:

Cook & Heat B.V. Thermofilm Australia Pty Ltd
www.heatstrip.eu 17 Johnston Court

Dandenong South,

Victoria, 3175 Australia



http://www.heatstrip.eu

